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Mathematics Level 2
Online Practice
Assessment

The Practice Assessment for Level 2 Functional Skills Mathematics
can be viewed on the XAMS platform by clicking here.
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LEVEL 2 FUNCTIONAL SKILLS
QUALIFICATION IN MATHEMATICS ( ’
SECTION A - QUESTION AND ANSWER PAPER OpenCIUJGrdS

NON-CALCULATOR - 30 MINUTES
PRACTICE ASSESSMENT 1 (FSM209P)

Do not open this paper until you are told to do so by the invigilator.

Overall assessment marks available: 60
Overall assessment time limit: 2 HOURS

There are TWO Sections to this assessment:
e Section A includes Task 1. You must not use a calculator for this section.

Total marks available: 15. Time limit: 30 minutes
e Section B includes Task 2, 3 and 4. You can use a non-scientific calculator for this section

Total marks available: 45. Time limit: 1 hour and 30 minutes

For Section A you need:
e This question and answer paper
e A pen with black or blue ink
e A pencil
e Aruler and a protractor

INTERNET ACCESS IS NOT PERMITTED AND YOU MUST NOT USE A CALCULATOR

The invigilator will stop the assessment after 30 minutes. You must hand in this question and
answer paper at this point.

The invigilator will then hand out Section B and a non-scientific calculator. You will then have a
further 1 hour and 30 minutes to complete Section B.

Instructions

1. Please sign and date below to confirm that your details are correct and that you have
understood the instructions.

2. Read each task and question carefully.

3. Remember to show all your workings out clearly.

4. The number of marks available for each question is shown in brackets. Use these marks to
guide you on how long to spend on each question.

5. Answer all questions using the space provided on this question and answer paper.

6. If you have time, check your work for Section A at the end. Once you have handed in this
question and answer paper, you will not be able to check this again.

7. If you use extra paper, write your name, learner number and the question number you are
answering on it and securely attach it to this question and answer paper.

Learner name:

Learner number:

Centre number:

Signature:

Today’s date:
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Section A

Question 1
What is 4.2 as a fraction of 33.67 (1 mark)

Show your calculations and/or workings out here:

b -2 _ 42 =2 -2 _ L
- - b J6 g S g

Write your answer in this box:

Question 2

Calculate the pressure exerted by a force of 8000 newtons on an area of 25m?2.
(2 marks)

Pressure = Force + Area

Show your calculations and/or workings out here:

pressure = force ——orrea

0 32
= Boso 25 25[300

= 2420

Write your answer in this box:

320 newtons/m?
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Question 3
Put the following fractions in order of size: (1 mark)
7 5 A 3 4
3 9 7 5
2. -33.-- 0S5 -1 O-y23... 08

Write your answer in this box:

“ 23 eee 0.SS e
:'5— 3[7'ooo S 1 [S %o%o’o
q
0.42¢ w °.3
TN - - S 4o o0 O
2 7|3 o0% S Jv
)
2 E | 4 =
n order ! 7 9 = S 3
Question 4

There are two red pens, eight purple pens and six yellow pens in a box.
One pen is chosen at random from the box.
What is the probability that the chosen pen is red or purple? Give your answer as

a percentage.
(2 marks)

Show your calculations and/or workings out here:

L +8 + b =l pens intei=l

IO oo eitner red or parple

SG& :_5_
\b e

Write your answer in this box:

5

—

3
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Question 5

John wants to build a workshop in his garden. The workshop will be rectangular,
4.5m long by 3.9m wide. The workshop must be at least 0.75m from the edge of
the garden.
Add a scale drawing of the workshop to the plan of the garden below:

(3 marks)

I3 sqdares =

Plan of Qarde':/ 59 cach gqpare § O -So
9m

E >

tTT 1T CTTT 1T TT T

PJ

6.5m

= Edge of garden
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Show your calculations and/or workings out here:

LQ 0 Sm 1S ene Sj/u.ou'c;

l_\,~5"’\ mMmunst lae 4-5 - 77 = T squarns

oS
2:9Tm  mnst be 31 _ 7.2 - 7.%syuaces
o )
6-95™ musk be 035 o 1°§ = )-S squaces
-5 L
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Question 6

Rana wants to buy a new mobile phone. The cheapest price she has found in
the UK is £260, but Rana’s uncle found the same phone for $310 in the USA.

Rana thinks the mobile phone bought in the UK is cheaper.

Is sf;Leoqurrect? Give a reason for your answer. (3 marks)
N
$1 =£0.80

Show your calculations and/or workings out here:

6 is bxd-Bz ALY4S
Sy 3 210

UK P\aon* cost $ b0 Tﬁ_

UsH pPrene cost 1 20L3

Write your answer and reason in this box:

QQM iS wrbnj - +he UV SA fbhcne Is d\mPV
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Question 7

Alison receives an itemised phone bill for her work phone.

call CaI_I Call
duration charges (£)
Call 1 00:01:31 0.195
Call 2 00:00:33 0.074
Call 3 00:01:22 0.126
Call 4 00:00:22 0.030
Call 5 00:01:46 0.210
Call 6 00:47:19 0.000
Call 7 00:32:58 0.000
Call 8 00:05:59 0.814
Call 9 00:01:19 0.123
Call 10 00:00:00 0.000
Call 11 00:00:02 0.000
Call 12 00:04.36 0.000
Subtotal 1.862
1572
122

There is an error in the subtotal for the call charges.
How much extra has Alison been charged?

Show your calculations and/or workings out here:

(3 marks)

yotal should loc : 1-5712
.
I-A'e2
exdrn s \-362 — 105N - 1. 572
= 0-14606 _—
29 0

Write your answers in this box:

o - 1L

[End of Section A]
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LEVEL 2 FUNCTIONAL SKILLS
QUALIFICATION IN MATHEMATICS ( }
SECTION B - QUESTION AND ANSWER PAPER openawards

CALCULATOR -1 HOUR 30 MINUTES
PRACTICE ASSESSMENT 1 (FSM209P)

Do not open this paper until you are told to do so by the invigilator.

Overall assessment marks available: 60
Overall assessment time limit: 2 HOURS

There are TWO Sections to this assessment:
e Section A — please ensure you have handed in Section A before beginning Section B

« Section B includes Task 2, 3 and 4. You can use a non-scientific calculator for this
section.

Total marks available: 45. Time limit: 1 hour and 30 minutes.

For Section B you need:
e This question and answer paper
A pen with black or blue ink
A pencil
A ruler and a protractor
A non-scientific calculator

INTERNET ACCESS IS NOT PERMITTED
You now have a further 1 hour and 30 minutes to complete Section B.

Instructions
1. Please sign and date below to confirm that your details are correct and that you have

understood the instructions.

2. Read each task and question carefully.

3. Remember to show all your workings out clearly.

4. The number of marks available for each question is shown in brackets. Use these marks to
guide you on how long to spend on each question.

5. Answer all questions using the space provided on this question and answer paper.

6. If you have time, check your work for Section B at the end.

7. If you use extra paper, write your name, learner number and the question number you are
answering on it, and securely attach it to this question and answer paper.

8. At the end of this section (Section B), hand in this question and answer paper and all notes
to the invigilator.

Learner name:

Learner number:

Centre number:

Signature:

Today’s date:
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Section B
Question 8
463 students take an exam and 19 fail. What percentage of students fail the
exam?
(2 marks)

Show your calculations and/or workings out here:

1T xj60 = ) 7

Lts
Write your answer in this box:

L7
Question 9
Put the following decimals in order of size: (1 mark)

2.122 2.962 22.36 22.8 2.112
Write your answer in this box:
2112 2122 2962 22-3%6 223
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Question 10

Marta owns a property that she rents out to tenants. The yearly rental income
she receives is less than the median average yearly rental income of other

similar rental properties in the area.

Marta currently receives a rental income of £795 per calendar month.

Properties in local area | Yearly rental income (£)
Property 1 8250
Property 2 12500
Property 3 11100
Property 4 10500
Property 5 9200
Property 6 10200
Property 7 9900
Property 8 11700

By what percentage is Marta’s yearly rental income below the median average

yearly rental income of the other properties?

$250 9200 ©¢Q00 10200 10500 []100

median = 10200 16500
2

= (030

7100 /2500

FSQ Maths Level 2 Practice Assessment 1 (FSM209P) — November 2021
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Show your calculations and/or workings out here:

mediown ‘\jeonrl& income

Marta's \ﬁea.r‘ly income S

10350 — 9546

LS % 10,350

qas x iz = £Z454-0

x 1606

Pe rc«r\-l-aﬁq ANijperence Cs

lo 3So

= 7926 7

Write your answer in this box:

ER /.
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Question 11

Marta puts £5000 of the income earned from renting out her property into a
savings account paying compound interest at a rate of 2.4% per annum.
How much will Marta have in the account after two years?

(3 marks)

Show your calculations and/or workings out here:

Cooo x 101y % -024 = £9242L 8%

Write your answer in this box:

41524238
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Question 12

Marta wants to purchase another property to rent out. She has £61500 cash for
the deposit and the house she wants to buy is valued at £192300.

Marta can borrow the outstanding amount on a mortgage providing her loan-to-
value (LTV) is below 75%. LTV is calculated using the following formula:

Loan-to-value (LTV) = Amount borrowed + house value x 100

Is Marta able to purchase the property? Give a reason for your answer.
(4 marks)

Show your calculations and/or workings out here:

she needs 4o borvsws 192306 — b1506 =120 800

LYY = \%O <00 — (90200 *'00

= 6%-011 /.

Write your answer and reason in this box:

-H(( LTV {S \o<low i = '/-, So yes,;hg can b“ﬂ the Fropgr(:j
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Question 13

The scatter graph below shows the height and foot length of 15 males:

24

22

20

18

Foot length(cm)

16

14

12
106

The table below shows information about Student P :

108 110

Foot length vs height

112

Foot Length | Height (cm)
(cm)
20.9 119.3

Add student P's data to the graph.

114

116
Height (cm)

118

120

122
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124

126

(1 mark)

Page 21 of 35

For Markers
Use Only


Lewis Wilding
Pencil


For Markers
Use Only

Question 14
Calculate 3.315 x 7.991 (1 mark)

Show your calculations and/or workings out here:

Write your answer in this box:

26 -4+90165
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Question 15

7
What is Z expressed as a decimal? (1 mark)

Show your calculations and/or workings out here:

—",.——Lf_, :\"_IS

Write your answer in this box:

|- 715
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Question 16
A gym asks its members to complete a customer satisfaction survey.
One of the questions asks how many times they used the gym last month.
The frequency has been partially completed. The remaining answers are shown
below:
16 12 16 21 12
29 23 18 10
24 20 19 11
16 20
21 17 20 21
Number of times the
gym was used last Frequency . (’\P ok migkpornt xfrﬁmg
month
0-4 6 2 gx2 =11
5-9 S ) $ x7) =3S
10-14 L‘, 2 g_’_xllzq-%
15-19 b 17 & X1 =102
20-24 < 27 % x22 = 116
25-29 ( 77 /<27 = 29
tokal: 20 Fota): 40O
Calculate an estimate of the mean number of gym visits.
(6 marks)
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Show your calculations and/or workings out here:

400 = 30 = 12333,

Write your answer in this box:

Estimate of the mean number of gym visits = [ S
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Question 17

The gym has an outdoor running track as shown in the diagram below:

Diagram not to scale

84.39m

7 N
v

= L™
—_— b”\

g

-
)

A
v

84.39m

The running track has six lanes and each lane is 1.22m wide.

Holly runs along the outside edge of the running track. She wants to run a
minimum of 1200m.

T=3.142

Will Holly run 1200m if she completes three laps of the track? Explain your
answer. (6 marks)
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Show your calculations and/or workings out here:

Aamek<«r Yo ouksSide (13&. = "-22+12+7320

= R -64m
u\é\S make P'J?Mckf
S"vﬂiﬁH’ of cwC le
Sechons

. b
distonce orownd Pecimeter :(l"%"' ,%c') + (5 b2 # 30 ‘9

= Jb¥-7% + LUS-364¥R

= Gl 1448

distarce for +hee laps = B % Wkl 1443
= 12352434 by

Write your answer and explanation in this box:

Yes, she will viun meore than 1200 — ghe will run 13324
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Question 18

Draw a cuboid measuring 4.5cm by 6.5 cm by 3cm. (2 marks)

Isometric Dot Paper (1 cm)
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Show your calculations and/or workings out here:

Write your answer in this box:

Question 19
Calculate 37% of 108 (1 mark)

Show your calculations and/or workings out here:

0371 X108 = 3-Ab

Write your answer in this box:

29 9L
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Question 20

Harry makes bracelets using round silver beads with a diameter of 4mm. He
buys the beads in packets of 800.

1.
Harry makes each bracelet to a standard bracelet length of 7 3 inches.

Using the conversion graph below, calculate how many bracelets Harry can
make from one packet of beads. (5 marks)

Inch to mm conversion graph

10

inches
(9]

0 10 20 30 40 50 60 70 80 90 100110120130140150160170180190200210220230240
mm
L inches
2-

s 190 wamn
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Show your calculations and/or workings out here:

number of loeds = 110 4
=415 (5o need 48 beads)

nAmber of Lraceleks = goo— 4R
= 1666\
so b whole lbracelets

Write your answer in this box:

o
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Question 21

Harry buys his beads from a wholesale supplier. A packet of 800 beads costs
£59.99.

Harry receives a discount of 18%.

How much does Harry pay per bead to the nearest whole pence?
(4 marks)

Show your calculations and/or workings out here:

discount s 0l xS R = o MM%L
co new osk ts 549 —10 e = £ 4409 for kadc

wosk ped \oeod is 41T Ro0 = 9;_0;36 [se (o pence)

Write your answer in this box:

©p
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Question 22

Dinah wants to send a parcel by post. She knows the parcel weighs 1lb 20z.

Dinah finds a leaflet with information on the costs of posting parcels:

Format and Max Weight 1st Class 2nd Class
max measurements
Small parcels 1009 £1.06 83p
250¢g £1.50 £1.32
5009 £1.97 £1.72
7509 £2.72 £2.33
1kg £4.61 £4.16
How much will it cost Dinah to post the parcel using 2" class?
- (3 marks)
LN
1kg = 2.2lbs
10z = 28.35¢g
Tt

Show your calculations and/or workings out here:

Farce[ s | 202

convert | b to kg:i [+T2°1 =04545 k9
= 45459

convert 0Z ko 9 92 x2g.2S = 5619

tokal wdj\d- a;} po«ccl = 54°S + 567
= Sl\"Lg

needs Yo be in 71509 category so will cost £2-33

Write your answer in this box:

21233

[End of assessment]
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Recommendations

Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions

v' Test your knowledge with
exam-style questions

v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time

passfunctionalskills.co.uk
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